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C:\Users\Minwei\Projects\Qt\TcpClient\tcpclientwindow.h:

#1ifndef TCPCLIENTWINDOW_H
#define TCPCLIENTWINDOW_H

#include <QMainwindow>
#include <QLabel>
#include <QTcpSocket>

QT_BEGIN_NAMESPACE
namespace Ui { class TcpClientwindow; }
QT_END_NAMESPACE

class TcpClientwindow : public QMainwindow

{
Q_OBJECT

public:
TcpClientwindow(Qwidget *parent = nullptr);
~TcpClientwindow();

private slots:
void on_m_actConnect_triggered();
void on_m_actDisconnect_triggered();
void on_m_actClear_triggered();

void on_m_btnsend_clicked();

void on_m_socket_connected();
void on_m_socket_readyRead();
void on_m_socket_disconnected();

void on_m_socket_stateChanged(
QAbstractSocket::SocketState socketState);
void on_m_socket_error(
QAbstractSocket: :SocketError socketError);

private:
Ui::TcpClientwindow *ui;
QLabel* m_TlabConnectionState;
QLabel* m_TlabSocketState;
QLabel* m_TlabSocketError;
QTcpSocket® m_socket;

};

#endif // TCPCLIENTWINDOW_H

C:\Users\Minwei\Projects\Qt\TcpClient\tcpclientwindow.cpp:
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#include <QHostInfo>
#include <QMetaEnum>

#include "tcpclientwindow.h"
#include "ui_tcpclientwindow.h"

TcpClientwindow: : TcpClientwindow(Qwidget *parent)
QMainwindow(parent)
, ui(new Ui::TcpClientwindow)
, m_labConnectionstate(new QLabel ("&ERIRA: WiIITF'™))
, m_labSocketState(new QLabel(" EETRE: "))
, m_labsocketError(new QLabel(" EfF4E%: "))
, m_socket(new QTcpSocket(this))

ui->setupui(this);

m_TabConnectionState->setMinimumwidth(196);
ui->m_statusBar->addwidget(m_labConnectionState);
m_labSocketState->setMinimumwidth(197);
ui->m_statusBar->addwidget(m_labSocketState);
m_labSocketError->setMinimumwidth(197);
ui->m_statusBar->addwidget(m_labSocketError);

connect(m_socket, SIGNAL(connected()),

this, SLOT(on_m_socket_connected()));
connect(m_socket, SIGNAL(readyRead()),

this, SLOT(on_m_socket_readyRead()));
connect(m_socket, SIGNAL(disconnected()),

this, SLOT(on_m_socket_disconnected()));

connect(m_socket, SIGNAL(stateChanged(QAbstractSocket::SocketState)),
this,
SLOT (on_m_socket_stateChanged(QAbstractSocket: :SocketState)));
connect(m_socket, SIGNAL(error(QAbstractSocket: :SocketError)),
this, sSLOT(on_m_socket_error(QAbstractSocket::SocketError)));

TcpClientwindow: :~TcpClientwindow()
{

delete ui;

void TcpClientwindow: :on_m_actConnect_triggered()

{
m_socket->connectToHost (ui->m_editRemoteAddr->text(),
ui->m_editRemotePort->text().toushort());

void TcpClientwindow: :on_m_actDisconnect_triggered()

{

m_socket->disconnectFromHost();

void TcpClientwindow: :on_m_actClear_triggered()

{



ui->m_editoutput->clear();

void TcpClientwindow: :on_m_btnSend_cTicked()
{
QByteArray data((ui->m_editSend->text() + "\n").toutf8());

qint64 nbytes = m_socket->write(data);

if (nbytes == -1)
ui->m_editoutput->appendPlainText("&ikAkK");
else
ui->m_editoutput->appendPlainText(QString ("%l :%2 K 1%%3F T : %4™").
arg(m_socket->peerAddress() .tostring()).arg(m_socket-
>peerPort()).
arg(nbytes).arg(Qstring(data).trimmed()));

void TcpClientwindow: :on_m_socket_connected()

{
ui->m_editoutput->appendPlainText(QString("&ar%1: %2i&E4E") .
arg(m_socket->peerAddress() .tostring()) .arg(m_socket->peerprPort()));
m_labConnectionState->setText(QString("#EHIRA: %1:%2").
arg(m_socket->peerAddress().tostring()).arg(m_socket->peerpPort()));
ui->m_btnSend->setEnabled(true);
}

void TcpClientwindow: :on_m_socket_readyRead()

{
while (m_socket->canReadLine())
{
QByteArray data = m_socket->readLine();
ui->m_editoutput->appendPlainText(QString (" M%L:%24208%3FT5: %4™) .
arg(m_socket->peerAddress().toString()).arg(m_socket-
>peerpPort()).
arg(data.size()).arg(Qstring(data).trimmed()));
}
}

void TcpClientwindow: :on_m_socket_disconnected()

{
ui->m_btnSend->setEnabled(false);
ui->m_editoutput->appendPlainText(QString("WiF%l:%2i&E4E") .
arg(m_socket->peerAddress().tostring()) .arg(m_socket->peerprPort()));
m_labConnectionState->setText ("&EBRA: W™ ;
}

void TcpClientwindow: :on_m_socket_stateChanged(
QAbstractSocket: :SocketState socketState)

m_labSocketState->setText(QString(" EEFRA: %1").arg(
QMetaEnum: : fromType<QAbstractSocket: : SocketState>().
valueToKey(socketState)));



109 1}

110

111 void TcpClientwindow: :on_m_socket_error(

112 QAbstractSocket: :SocketError socketError)

113 | {

114 m_labSocketError->setText(Qstring(" EfET7HE: %1") .arg(
115 QMetaEnum: : fromType<QAbstractSocket: :SocketError>().
116 valueTokKey(socketError)));

117 3}
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FEARHME: [127.0.0.1 | migigA: 9000
71270019000 %
Miz7. 0.0 1: 000048 135" : Hello Client
M1z7.0.0.1: 30003813523 Hello Client
M1z7 0000130001354y Hella Client
[@127. 0.0.1:59000% 3135 : Hello Server
[@127.0.0.1:5000% 51359 : Hello Server
[@127. 0.0.1:59000% 3135 : Hello Server
BF127.0.0. 1 9000;%8E
71270019000 %
Miz7. 0.0 1: 000048 135" : Hello Client
M1z7.0.0.1: 30003813523 Hello Client
M1z7 0000130001354y Hella Client
[@]127.0.0.1: 2000 261352y 1 Hello Server
[@127.0.0.1:5000% 51359 : Hello Server
[@127. 0.0.1:59000% 3135 : Hello Server
BF127.0.0. 1 9000;%8E
71270019000 %
Miz7. 0.0 1: 000048 135" : Hello Client
M1z7.0.0.1: 30003813523 Hello Client
M1z7 0000190003 1354Y : Hello Client
[E)127.0.0.1:5000% 51352 : Hella Server
[@127.0.0.1:5000% 51359 : Hello Server
[@127. 0.0.1:59000% 3135 : Hello Server
M1z7 00001 30008 ee==dy : RAE. B!
[@127.0.0.1: 9000% &ee=dy : {RiE, ARSSE!
[{RiF, BREER! =
EEEE 127.0.0.1:9000 EiETha: ConnectedState EiErans.:
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